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Important Instructions for the
School Principal

(Not to be printed with the question paper)

This question paper is strictly meant for use in school based SA-I, September-2012 only.
This question paper is not to be used for any other purpose except mentioned above under
any circumstances.

The intellectual material contained in the question paper is the exclusive property of
Central Board of Secondary Education and no one including the user school is allowed to
publish, print or convey (by any means) to any person not authorised by the board in this
regard.

The School Principal is responsible for the safe custody of the question paper or any other
material sent by the Central Board of Secondary Education in connection with school
based SA-I, September-2012, in any form including the print-outs, compact-disc or any
other electronic form.

Any violation of the terms and conditions mentioned above may result in the action
criminal or civil under the applicable laws/byelaws against the offenders/defaulters.

Note:

Please ensure that these instructions are not printed with the question

paper being administered to the examinees.
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(ix)

TG U9 T i 3T HEN, HET-37 3T HET-o H o T & | 379! 21 9 & 9991 & 3o foem 1

ot 79 Sfar € |

R Y T W DI =TI YH T § Weg G- et & g g9l § ofiqd = fem e g1 = oyl #
3T Hael Teh Wil 59 i SR faes & fore 97 g |

3TTIRT WRT-3T 3R WRT-F o |l I o ST go@, - gue fae g

WRT-3T & Y9 G 1Y 3 F U Ueh 3k o ¢ | 9o IR Ueh IIeg 37909 Weh AT 1 < |

WFT-3T & U9 G 4 Y 7 % Y GF STkl o & | Tk ST I 30 9Tsa) H < |

WFT-3T & Y9 T 8 T 19 o T 1T STehl o & | Tk TR ST 50 P1aai H < |

WRT-3T o T3 G 20 T 24 o T IS ekl & € | Teh TR 1T 70 I1agi § < |

WRT-& & Y9 GE 25 § 42 & YT TANTHE hivel R TR agfashedt U9 1 T U Ueh 3ieh
g1 feu T =R fowedl § 9 STUsh! ol T o9 ST fashed I § |

General Instructions :

()

The question paper comprises of two Sections, A and B. You are to attempt both the
sections.

All questions are compulsory.

There is no overall choice. However, internal choice has been provided in all the five
questions of five marks category. Only one option in such questions is to be attempted.

All questions of Section-A and all questions of Section-B are to be attempted separately.
Question numbers 1 to 3 in Section-A are one mark questions. These are to be answered in
one word or in one sentence.

Question numbers 4 to 7 in Sections-A are two marks questions. These are to be answered
in about 30 words each.

Question numbers 8 to 19 in Section-A are three marks questions. These are to be answered
in about 50 words each.

Question numbers 20 to 24 in Section-A are five marks questions. These are to be answered
in about 70 words each.
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Question numbers 25 to 42 in Section-B are multiple choice questions based on practical
skills. Each question is a one mark question. You are to select one most appropriate
response out of the four provided to you.

[T-31 / SECTION-A
11 qerelf o1 3ok U o HEA T Aol STRYTT &t o 9Gd ShH H SaTeerd hifeid | 1
SATSRETST, FTEOT T, G

Arrange the following substances in the increasing order of force of attraction
between their particles :

Oxygen, salt, milk

=hIf¥TeRT § ShIHEH < s fofaT | 1
State the function of chromosome in a cell.

39 ot 1 M fafay <t fordt a5 ot st giteds & fou Saert § 1
Name the force which is responsible for change in position or state of an object.
FeedTa i qrTi iy | ferel <1 werelf o A ferfa i seeurfad g €1 2

Define the term sublimation. Write the names of any two substances which
sublime.

T eI 40 g TR0 H1 100 g ST H ST W TIR B §, foerad st digar afkewferd 2
TS |

A solution is prepared by adding 40 g of sugar in 100 g of water. Calculate the
concentration in terms of mass by mass percentage of solution.

BAGEIRICICERCERCIELY 2
Draw a labelled diagram of a neuron.

ferelt 80 kg o AR 1 YR == &I Tdg W AW HIVY | Yeall 3R F=ZH T IHHA 2
SHAM F1 BHT 18T ? (g, =9.8 m/s2 ; g, =1.63 m/s?)

Find the weight of a 80 kg man on the surface of moon ? What should be his
mass on the earth and on the moon ? (g.=9.8 m/s? ; g, =1.63 m/s2)

HH- =k ! IR HIT | -k & fow Wl o1 gAE wa g9g foh et 3
I S H T A8

Define crop rotation. While choosing plants for crop rotation, what factors should
be kept in mind ?

RIEE ok AT 1 TeSIe ohid IHF fhgl 1 JereA-gonferdl st =t e | 3

List any three management practices while designing a shelter for cattle.

ﬁﬂﬁﬂﬂ?ﬂﬁa: 3
() G A A AR WIS Sl ©
(i) ST H A R A T R
(i)  STSHA & ¥iider B
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11.

12.

13.

14.

Explain the following :

(i) Gases exert pressure on the walls of the container .
(ii) Water is liquid at room temperature.

(iii) ~ Evaporation causes cooling.

(a)  STYR! WXl % dd q1 S k1 fAg fe e %) 39w w1 AW SRy
et ST SWRiad fagor @ TR@i & It Sl YUF A | fRmar ST €
(b) SO UfshaT 1 Wk AHifeRd o @ifwr |

(@) You are given a mixture of mustard oil and water. Name the process that
can be used to obtain mustard oil from the above mixture.
(b) Draw a well labelled diagram of the above process.

AESIHI-E T 79T Wk | T THFAE a1 U A9qHar fafaa |

Write two similarities and one dissimilarity between mitochondria and plastid.

1 Faei & faw T TiRkeies siss fafay

(@) < AR @ efe ¥ Sed €

(b) S AN YRR I THT HT YUER §

() S 3 % ofiR 1 WIelt g H WA T, TR <A1 § q1 Skl hl T H
EERCIETGIR

Write one term for the following tissues :

(@) that joins muscle to bone
(b) fat reservoir of our body
() supporting, fills the space inside the organs, and helps in repair of tissues.

= fou fo= 9 (a), (b) 3R () =T AHIRA HIFTT ToM T THIRRA AW 1 TH FE
fafau |

— (©

() j (a)

Label the following and give one function of each part labelled (a), (b) and (c).
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— (©)

Wy

I > (b)

U j (a)

15. o foU T UTh 1 AT ek (HAfafEad UeH o SO SIS | 3

yA
6.

T 21 B g

/—-\4 --------- |,

2
3)- 4 E } + F + .D >
A 2 4 6 8 10 12 14

AT (s) ——>

(i) T T M G A @G T g9 § 2
(i) T T Sk | WA Higd TG @@ 2
(i) %] BN U8cl 4 YR UE § qF ! TR g 1 Uk wrwra fafy grn i

Study the given graph and answer the following questions.

6
TS' B o
f‘\4 -------- .
L 3,
£
> 11 : :

0 Y—t IE — 'F ' .D > X

2 4 6 8 10 12 14
t(s) —>

(i) Which part of the graph shows accelerated motion ?

(ii) Which part of the graph shows retarded motion ?

(iii)  Calculate the distance travelled by the body in first 4 seconds of journey
graphically ?

16. 60 kg YR I Tk =K 18 kmh—1 & a7 | T & 3w el € IR vl W @ 3
1 f3d (100 kg) T R § Fgdl 1 UReverd ifse foh ®R fhg o 9 92i &
ST AT YREH Y ?

A man weighing 60 kg runs along the rails with a velocity of 18 kmh~1 and
jumps into a car of mass 1 quintal (100 kg) standing on the rails. Calculate the
velocity with which car will start travelling along the rails.
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17.

18.

19.

20.

21.

71 % T i) e I 3
@) Gt FR H e e < DA F)
(b) ~ FoTd o9 § IR HSA GATE B |
() < I i 10T Fga gl Tfa W Teeh geeATd STtk affd uged €
State reason for the following :
(@) All the cars are provided with seat belts
(b) It is dangerous to move out of a moving bus
() Road accidents at high speeds are very much worse than accidents at low
speeds.
h1E Te 40 m/s o AT § Healel S ekl 71 G199 Yehel 41| g =10 m/s2 3
TU TR GRT g Aehay SolE T hITSIT | TeeR i1 =2 fowemu aem ek gry <felt
TS el gl A I |

A stone is thrown vertically upwards with a velocity of 40 m/s and is caught
back. Taking g = 10 m/s? calculate the maximum height reached by the stone.
What is the net displacement and total distance covered by the stone ?

() A et weell o W Wyt & gd W W GH 9lik | 39 98 3
M1 3791 Haelt sl dd < foan sia 98 faged 9 o 399 fucit| o= 39!
Tedll BRie L §H % YR & oI Tead erft 2 Afe T2 a1 &1 ?

(i)  afc == gt w1 STHNA AT S A YAt TEAT i SR (G H| 781 HLd! 2

(i) Seema buys few grains of gold at the poles as per the instructions of one
of her friends. She hands over the same when she meets her at the
equator. Will the friend agree with the weight of gold bought ? If not,

why ?
(if) If the moon attracts the earth, why does the earth not move towards the

moon ?
() YA An 9y (S0 9Y]) K SRR Wi STEvdeRdl % ol TR fafau | 5
(i) Y A 9Y b ARR & fafsr= sl i =i 516 |
(i) TS I WA SRR At SATTTERal H Bl ¢ 2
(i) State the two types of food requirements of dairy animals ?
(ii) List the various constituents of food of dairy animals.
(iii) ~ Why do cattle need a balanced diet ?

AUAT / OR

() e % o fera diveki i sTavahdT Bt © 2
(i)  GETUITR qAT Joq- Ik 1§ ?
(i) 9, A A1 G GRI UTE 8 STel 9I9ehi i e o= |
(i) How many nutrients are essential for plants ?
(if) What are macronutrients and micronutrients ?
(iif)  List the nutrients supplied by air, water and soil.
(a) U ok QI fafvre qUrEE! Hi fafa 5

() 2™ i) =@ (i) T
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22,

23.

(b)

S

~~ o~ o~
(@)
~

£

A/n\/\/\
RORERCIN

sifed 1 diefirm e % 9 fhed < Sl A 991 B § e S s
T STet A°1 ST S T AR Bl HS THA Tk I WA o 91G 394 F41 Ufara
[ERIEINC R

State two characteristic properties each of :

@) solid (ii) liquid (i) Gas

Archit dropped a crystal of potassium permanganate into two beakers A

and B containing hot water and cold water respectively. After keeping
the beakers undisturbed for some time what did he observe and why ?

319at / OR
CO, T 119 B, 3qant qfte & forw i o < qorerd fafiay |
&9 T8 1 4 Bfed T Fehd § 2
3/ CO, 1 Ik otk ot hed &, i ?
frefafEd =1 qu am fafe :
(i) CNG (ii) LPG
COz is a gas. Write its two gaseous properties to justify it.
How can we liquefy a gas ?
Solid CO; is also known as dry ice. Why ?

Write the full form of :
(i) CNG (ii) LPG

FIIIUTH T 7 el RN F Aagdl I HIESUTE R Hd Yok A 2
ShIHSIITH <k =g T SI9 ferfay |

What is chromatography ? How will you separate the components of black ink
using chromatography ? Write any two applications of chromatography.

NEACHN e

0

o~~~ o~ o~ o~

AYdr / OR

foreter, hieTgee foera qen ferse # i T A® fafa |

20 g Wifeam FAREE 1 100 mL ST H =it | 379 fore wohR Sita sl fom fea
o1 ferere fafeera 9 W Hgw € = ewqy ?

Gqcd faerad ot foeraar sieM & fau &g T U™ gast |

Give any one point of difference between true solution, colloidal solution
and suspension.

20 g of sodium chloride is dissolved in 100 mL of water. How will you
test whether the given solution is saturated or unsaturated at the given
temperature ?

Suggest any one method by which we can increase the solubility of
saturated solutions.

THYHH T W T THEAH g T § 9 Hif |
THTH I T & e 9R 32807 fafan |
F ThHEHH it fa i T 82

Differentiate between uniform linear and uniform circular motion.
Write any four examples of uniform circular motion.
Is uniform circular motion accelerated motion ?

2+2+1=5

Page 7 of 15



24,

25.

AYAT / OR

(a) =T AU H 9§ i

(b)  foRE IR T THAHH AT el FHET A S 2

Tt o ot Tearfa =1 forg whR afvla foran <1 Tehar 82 3 STRR0T 511 T9m
HIFST |

—~
(@)
~

(@) Differentiate between speed and velocity.
(b) When is a body said to have uniform velocity ?
() How can we describe the position of an object ? Illustrate with suitable
example.
(a) T % T o T 1A i Soor@ HIfSC | I8 gwisy Tk 71fd < fgdta fom & 5

i Sistes © IR % Werd fm 1 R w @ Seord TR S w82

(b) faewt ¥ fREm ™ TH TER 05 WEUE H @A W OUgAd <
(fea g, g=10ms2)
()  3Hh PGS W EHUA H U8 i A1 YRR I |
(i) 0.5 % SR STh! 3TEd =1 F1 8 ?
(i) =Ee 9 fagst wt I8 uRefaa HifeT

(@) State Newton’s second law of motion and show that the first law of
motion can be mathematically stated from the mathematical expression
for the second law of motion.

(b) A stone dropped from a window reaches the ground in 0.5 seconds
(given g = 10 ms™2)

(i) Calculate the speed just before it hits the ground.

(if) What is the average speed during 0.5 ?

(iii)  Calculate the height of window from the ground.

AYdr / OR

I& % 39 e 1 W fafay S 35 o % afiad i fale war R
oI QT T o S R e § 2

fopet g o FoAHT T S % IOl < T A foar S § 2

S T ifas e Gom afed # W F g 82

Tehe o I L & THgia &1 T fafan)

Name the property of bodies to resist a change in their velocity.
What is relationship between force and acceleration ?

What name is given to the product of mass and velocity of a body ?
Which physical quantity corresponds to the rate of change of
momentum ?

Name the principle on which a rocket works.

— — —
e e N
_.

~—

=

e e T
e e N
= ~—
~"

/‘\AAA?/‘\/\/‘\/‘\
~—

=

=

WAT-& / SECTION - B

8 - WR-URIet o =R AT I, 11, 101 99 IV H e Sl 538 9 fhad fen- 1
HTeTl T 3T ?

(a) o AA (b)  FEA S

() Sl &L T T (d) e H T H TR

@@ LI (b) L ILIII ©  LILIV d  LILIV

Rohan added iodine solution to four samples of food I, II, IIl and IV. Which will
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26.

27.

develop blue black colour ?

(i) Boiled Rice (ii) Crushed potato

(iii)  Boiled arhar dal (iv)  Powdered arhar dal

(a) L 10 (b) L 11, IIT (c) LI IV (d) L 1L, IV
IRE 1 T H UM T § & 2 - 4 S Hig gl 3Tl i el St €
TSI 3T 3T o SRS :

@)  HeIa de (b) =

() Tl et (d) =T UEet

When 2 - 4 drops of conc. hydrochloric acid are added in the given sample of
arhar dal, the pink colour is due to :

(@) Metanil yellow (b)
() Turmeric powder (d)

3 B AU qe WA B ST F FALHIP TN B ok STRL bl AT A F A
BN T IR IURL0N oh! 1< T 7T fosli shHsl: A 9B o SIER =Fafeed foan :

Starch
Chalk powder

(A}

o7 o Fored Sushivl Hel €9 9 Hafed g 98 ¢ :

(@)  %ad A (b)  HAAB

(c) ATAMBIH (d) ATHABH Y HE T

Two students Arpit and Rakshita are asked to arrange the apparatus to

determine the boiling point of water. They arranged the apparatus as shown
below by figures A and B respectively :

IE‘ —-—-—_~--“'j" Wﬁmmm«»lm

aail
Boiling wates
Stand 1
-

Wire gauvze -“Wire gause
—Tripod

Tnpoo stand

stand

— Spint lamp

/17

The diagram in which the apparatus is correctly arranged is :
(@) A only (b) B only
() both A and B (d) neither A nor B

(A} (B)
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28. foefafad & 9 = ot @@ fafy sh o1 govris I w3 18?2

29.

30.

(@ A (b) B © C (d D
Which of the following is the correct method of finding the melting point of ice ?

—>Thermometer —>Thermometer

Pure ice Ice + Salt

(A) (B)

-

—>Thermometer —>Thermometer

Ice + Salt Pure ice

@ A (b) B © C d D

& Xd, 9Ifgaq FANEE 991 ST FaREe & fHgor s =g fewr o 7 o sian @
A S ¥ I BT § | Hid I W W3 YA HT ST A R e STHE FTH 2l
HEREREE R ETI

)  wifead FARES

b @

()  Hifcam FANES T STHIH FANES

(d) — STEITEE FARES

When a mixture of sand, sodium chloride and ammonium chloride is heated in a
china dish dense white fumes are evolved on cooling these fumes on a glass plate
a white deposit is obtained. The white deposit may be :

(@) Sodium chloride

b) Sand

C) Sodium chloride and ammonium chloride

d) Ammonium chloride

(
(
(

=1 el 1 fou o fos & TR st & urt o faerren man fagor @ o=t e
foenfed foran a1 | T faeaa e e T ym am g ®
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31.

32.

(1] [11] [111] [1V]
@ I (b) I € I d IV

The following substances are added to water in a beaker as shown below. The
mixture is stirred well. A true solution is found in the beaker :

@ I (b) I (€ I d) IV

ST BH T a1 Ieh & TH90 il $2 999 & foru 7 d € &R 99wk qreh h

% S R ST 8, e fRe T YaTr 2 1
(@) ST Aehitd g1 §

(b) ~ HTHL AR B &

()  STERA q1 TeHL SMT STehidd Rt € |

(d) ST, IR A1 1 Searg o STeRfvd B

When we heat a mixture of iron and sulphur for a short time and then move a

magnet over it, the observation made is :

(@) iron gets attracted

(b) sulphur gets attracted

() iron and sulphur both get attracted

(d) iron, sulphur as well as the product formed all get attracted

fSien ot a7 IerIeh o st Sifafshan 9 3oq=1 19 ® - 1

(@) TR, TUdH qen ufg i § ot ®
(b) TR, SEEER T4, 91T e & W S §
(c)  TEM, dieur Ty, g At & |1 St §
(d) o, e T, STerdt T §
The gas evolved when zinc reacts with dilute sulphuric acid is :
Page 11 of 15



33.

34.

35.

V)
~—

colourless, odourless, burns with a pop sound
colourless, foul smelling, burns with a pop sound
colourless, pungent smelling, burns with a pop sound

g

C

o~~~ o~
~

d) brown coloured, pungent smelling, does not burn

HIE 3 T adT dre =ul i A few § 99 9o T foR S9 q@ o Se g
AT B ST | 39 SUE | FHle SHACHRES e feetm W a8 Wafor fhan .

@)  TTE & HIHA TG |

(b) e % A T |

()  YH-h AR HA TS |

d) ¥ afadT 7 g )

Mohan heated a mixture of sulphur and iron filings in a china dish till a grey -
black product was formed. On adding carbon disulphide and stirring the
contents he observed that :

(@) Particles of sulphur dissolve

(b) Particles of iron dissolve

() grey black product dissolves

(d) no change takes place

STel g9 T o ol 916 ik S§ 91g § S €, O g9 98 T80 Hid § T
a) % Hhg ST HE FTCT TR ok | ST |

b) oM T I8 Whe 1 Siedl ¢ |

o) 9 H HieM R I8 T A feqs i e i 3l T

) S 9l |

When we burn a cleaned piece of magnesium ribbon in air, we observe :
a) a white dazzling light while burning.

b) a white residue left after burning.

C) a black residue left after burning.

d) (a) and (b)

o~ o~ o~

a

(
(
(
(

A 3 W1 ot oeell ot SRR WES (AR &t IR 3H ganew o Ufer fear) 3w

gg S
A B
@ A b) B @© C (d D

Raman prepared a temporary mount of onion peel and observed it under a
microscope. His teacher asked him to draw the diagram. The correct diagram of
the cells found in onion peel is:
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36.

37.

38.

(5 5
4 T
eg 5 RN B

A

B
@ A (b) B (©

HE U IR 1 STEAE TIBES YA g acihd 6 H B 1 AHG 1
U IR ok AT Al foh

() IR fafa ek qen wifiee =it stufeafa

(i) e a1 ®ifee FI Tgufefd

(i) IRt fafa, wifice qen Sidenifims staem ot sTafefa

(iv)  STRIhINTeh ST Gl hrgeh ohi STgarefd|

@ (0 (b) (1) (© () d av)

While observing a temporary mount of human check cells under a microscope a
student noted that the correct feature of check cell is :

i) absence of cell wall, nucleus and plastid
ii absence of nucleus, plastid

(
(
(iif) absence of cell wall, plastid and intercellular space
(
(

~"

iv)  absence of intercellular space and nucleus

a) (D (b) (1) (© (D (d @)

@S & fAeedt a1 e wUIE IR i T WIRE TIR A THI WIS W 1
TR o FW HeR FeTd sga o ¥ @A |feu |

(a) MBS W USH ®I To § 99 & fag

(b) Tk eIl 1 TR A F Uk o folQ

(c) IS 1 e A H ek o folT

(d)  FeEa 1 st A 9 Uk & foag

While preparing a temporary mount of onion peel cells or human check cells, a
coverslip is put on the mounted material on a slide very gently to:

(@) avoid the crushing of mounted material

(b) avoid the entry of air bubbles

() avoid oozing of stain

(d) avoid oozing of glycerine

ittt 1 WFad et a ) e YEASH g STeIelihd hi | $Eh! I B 1

() &, THEU AT TH-FEHE
(b) S, SRR qe o s o
() W&, STRR AUl TG-hah
(d) SRR, IMRET T TH-Fahd

Sheela observed a slide of striated muscle fibre, under a microscope. Its cells
would be :
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39.

40.

V)
~—

long, spindle shaped and uninucleate

g

long, cylindrical, and without nuclei
c

~

long, cylindrical, and multinucleate
d) cylindrical, branched and uninucleate

o~~~ o~

B A A fT T Fdw e gRI STeeihd fRTI T | HiF W1 Hask 9d €, fo 1
Siferd Siaged dem g & © :

@ @ (Iv)

(1)
(@ d (b) ) (c) I d 1V
Students observed the following tissues under the microscope. Which one of the
tissues is dead, without living cytoplasm and nucleus :

0 (I1)

@ b) () (c) I d) IV

TH B A x g A Tk s H o qon 396 p g formitast 1 o8 garen | fomwifisi 1
1 2 HE T UM H T o 915 FRHR &l G99 q g @ S8 SRt § Yoo st
! A ot AT Sy g B1 36 Yeqonger frufiel gR staenfyd Sia w6t i

@) v =g % 100 (b) v =g % 100
*g Yg

@ 9TPs 0 @ 9P g
dg Pg

A student took x gram water in a beaker and dipped p gram of raisins in it. After
keeping raisins in water for about 2 hours he measured the mass of soaked
raisins as q grams. He also measured the mass of water absorbed from the
beaker which was y grams. On the basis of his observations the percentage of
water absorbed by raisins would be :
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41.

42,

(@) & x 100 (b) & x 100
g Yg
© A7Pe g @  A7Pe g
dg Pg
Afast A9 W feq AR THel & ek & IR 701 39 g a6 & foe e Ty 1
JMEYTF I I FAFIGR el SR AU 1 T4 L G99 9% Ufera fwan wman &
(a)  After S fyeh =i (b)  HH SIS FHA A
() U e A 9 (d) TS AU 9 Teh TR W eIt T |

While doing an experiment to find the relationship between the weight of a
rectangular wooden block lying on a horizontal table and the minimum force
required to just move it using a spring balance it is observed that :

(@) more inertia more force

(b) less inertia less force

() less inertia more force

(d) inertia and force are not related to each other.

A student measured the minimum force Fq to just more a rectangular wooden 1

block kept with largest surface area on a horizontal surface by a spring balance.
He again measured the minimum force by placing the block with smallest surface
area on the table as Fy. The repeated the experiment and established a relation

between the two forces. The correct result will be :

(@) F1>Fp (b) Fr>Fq

() F1=Fy (d) no relation between the two forces
Teh B A T SAIAER T2k & STIHTH &he dTel Telsh bl &Afds B9 T T H 3
= 715 & T T T STeREh 9 i HAMIGR gl §R1 A1911 376 36 e &l
ol A &5hel STl Theleh I TRt H: <IqH oIt i |19 Fp &l | SHEA TN i
e A1 S Sl H Heie TTfua oA | wet o g

(@ Fr1>F (b) Fr>Fp
(c) F{=Fp (d) I acl § B Hey T T
-00o0-
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